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1. HFELRER (F/NE 8 4, 2£40 1)
(@) y(x)=x""0 58y ),

1.
(b) fx2+3x+2dx' A
(c) fexsinzxdx,
, _
) foo e 4 dx,
dxdy 2 2, .2
H A={(x, Rej0<x“+y <1}.
(e) ff\/m Hep A={(x, ) eR0O=x"+Y
2. (104) Kl x? — yz=4 L, BEEEIEES (0,0,0) BLAIES, 3K E PR
3. (109 4 y() =Vx, 1sx=<4. :
(@) & VB x=2, x=4, y(x) T X i FrERIESE v ¥l TEls S < e, K v i, ‘
(b) & SF R C={(x, y(x)|1 = x <4} 3 X1 il P S e T, 3K S TR ;

4. 10 S W B R ZFEH. EF Wl—{vel}R3|<v w>=0 for all LUEW} SR AT

RS — R RRUT
T(x,y,2)=(x+2y+2,2,x+2Y).

K W=Range(T) fHEE LR W
5. A=la;))} ;. B—EEH nx n I, A'F ARIBESEE (ranspose). & A
x’ @) 5% A=A" B ANERELRER. |
(b) (54 % A= AL, A, FA, B A MIHREAE, B A, i ENOERRE v A, )

FREIER A v, HAREE:
(@) (55 % A=—A", Bl AMEATLLT 0 SR,

4 0 =1
6. A=|1 3 —1].
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(@) (109 K AMEBEEMEENE,
(b) (5 43) ®—1 3 x 3 4l Q, P15 QAQ™ R MK, ., aal i




